Final Plot Studies

 Two Data Sets are considered (for now):
« Joint Qvalue
* Elliptical Subtraction

* | look at the significance of different fits for PhiEta
Invariant Mass

e Cos Theta, GJ Will be shown as well
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Fit with 2 BW'’s

K"K yy Mass : Q_ Weighted

Integral 2216

o X2/ ndf 53.76 /26
Normalization 57.32+6.93

Peak,/Peak | Ratio 0.4178 £0.1479

80 Peak,:Peak, Phase 2.026 +1.248
Peak, Mass 1.656 +0.010

60 Peak, Mass 1.881+0.018
Peak, Width 0.1214 £ 0.0267

% Peak, Width 0.04368 + 0.03424
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X2/ ndf 43.8/26
Normalization 53.83 £11.62
= Peak,/Peak | Ratio 0.8585 +0.2661
- Peak,:Peak | Phase 2.803 +0.843
o Peak Mass 1.664 £ 0.019
= Peak, Mass 1.887 £ 0.009
- Peak, Width 0.1529 £0.0432
- Peak, Width 0.03965 + 0.01885
= p0 1.52 £ 0.00
- pl 423.8+1223
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Events / 0.020 GeV/c?

Fit with 1 BW @ 1680

K™K vy Mass : qu Weighted

" 7 | Integral 2216
e e %/ ndf 60.81/27
5 5 Normalization 51.45+£6.78
- Peak,:Peak, Phase 0+4.7
Peak, Mass 1.653 £ 0.009
N N Sl Peak, Mass 1.85 £0.07
§ i Peak, Width 0.1076 +0.0233
Peak, Width 0.087 £0.191
b p0 1.515 +0.002
564.3 £48.4
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Integral 2230
x2 / ndf 552227
Normalization 42.89 +11.37
Peak,:Peak, Phase 047
Peak, Mass 1.622 £0.017
Peak, Mass 1.85+0.07
Peak, Width 0.06239 * 0.03252
Peak, Width 0.087 +0.191
po 1.516 £ 0.002
pl 680 £ 68.2
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p3 1238 + 212.5
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Attempted Fit with 1 BW @ 1850
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Fit with 0 BW
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Summary Of Fits

Fit Qvalue Elliptical
2 BW. 2.07 1.68
1 BW(1680). 2.25 2.05
1 BW(1850). 4.22 2.23
0 BW: 3.78 2.19
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Cos Theta, GJ (1680)
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Cos Theta, GJ (1850)
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